EARAROBEEIERT — 2 N— IBISH —F

2019518100 () 17mE55#3H

mﬂﬁ%SES.‘ﬁﬂ + 5% 3% (w8 | mEmml - |5 5) o 8
[AE4£] 1% :270,000 ™ ~ 23#%&:63,000”  33%&:27,000” . 437&:19,000 .~ 5 7&:14,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o . . BHEN :30. -0-0- 7 - HEES (%1
1189 HITRATF 4> i3 54.0 ! 1(:?)4 reo2 |87 ! ?_935) BF 2 1EH :
LiFkvTFoby—L BHYFXRIY e B
— 3 | EHFRA 1:30.5 1-1-1-1 | 40.0| — 3 425 | RE=EXR (BHE)
2|11 | FALXATI # 54.0 () (5 |1¥8=7z-2 (@)
L:Y=Z28—-3I=24— FB:HUZX Fo e
= : 4t 3 | KEA 1:30.8 6-7-7-7 | 39.0| — 8 458 | FRERBSET (S542)
EH 6 FEZ—FK 56.0 (11/2) (-8) EHEH
A RN—I TR—L BiA¥-—E-— N: A
NN 4 3 | WTHZ 1:30.9 6-6-4-4 |39.5| — 4 470 | NIIGEAE (554R)
4177 JUIN=F1 > 56.0 (1/2) -7 {)9—71:\1 ()
R:O—-X¥>F 8L BNRLSCZ2F—IL AHHE BE
S _O—_ 43 | s 1:30.9 9-9-6-6 |39.1| — 5 504 | BARR— (%)
5 o|B—Y—0O—> 56.0 (7€) o) | EEmE
R:A—YUXf x4 B:OrJE=Z— ERES
S S5 s 3 | EEERR 1:31.2 5-5-3-3 | 40.1| — 2 415 | EEBEEL (S542)
6188 WWhtw7 54.0 ( 1/2) (+3) =EEE
R:bh—t>5— B:AXEIHAT1> EvJLy RIT7—L
$ = 4 3 | EEREFE 1:31.7 4-4-5-5 | 40.6 | — 1 400 | EEEE] (542)
7155 JAVAS- 4| 54.0 (21/2) (0) fEimE—
Libh—tr5— BIANAY—VU—2R =R E%E
s = AR : ~7-9- — EIBRERL (SEHA)
8 3| XA T5— 4 3 54_0A 1(731[:)7 6-7-9-8 | 39.6 6 (3532&9) D A
R:Z2v—h77)3> B:7LN—NLLT A4S
o R EHEE . 2 g _ FRILEHE (5548)
9 4|V IR=Z=F x> i 3 o (1&.:;5.&1) 3-3-8-9 | 43.7 9 :2;;) Eéi:* 2
LA TATv— B:TTO—3457T e ]
® I—F—@EBIERL
13—7+— 1,9,4,5,8,(3,6,7),2
Ao=5"= 1,9,4,5,8,7,(3,6) ,2
T =35r= 1,9,8,7,5,2,6,4,3
41—F— 1,9,8,7,5,2,6,3,4
[ RN
B 9 3,170 794K 1-9 2,270/ & 1-8 850 &R 1-6-9 59,490/
# B 9 790H 6-9 16,510M B E 1-9 9,150/ EE 9-1-6 1,168,970M
1 240/ 1-6 10,610 B H 9-1 17,070M
6 3,640

ABICOVWTRDTEEERROODE. TR LIV,




